ORDER WRITING
A.    1. A commodities order whereby one part of an order is automatically cancelled if the other part of the order is executed is called a:   Answer = B

B. Stop Order

C. OCO Order

D. MOC Order

E. CFO Order

A. 2. At what price may a customer's buy stop limit order at 89.50 not be filled?   Answer = C

B. 89.48

C. 89.50

D. 89.52

E. All of the above would be acceptable

A. 3. An order to purchase 12 December Live Cattle at 72.75 Stop GTC is a:   Answer = D

B. Day Order

C. Contingent Order

D. Limit Order

E. Open Order

A. 4. To liquidate a short position in pork bellies when the price falls below a price that is below the prevailing market, a trader would tell his broker to use a:   Answer = B

B. Sell MIT Order

C. Buy Limit Order

D. Buy Stop Limit Order

E. Sell Stop Order

A. 5. In writing an order for oats, the order should specify the number of:   Answer = D

B. Pounds

C. Tons

D. Contracts

E. Bushels

A. 6. When an error is made by the floor broker handling a customer's order, the following is true:   Answer = D

B. The customer's account executive is responsible for the loss

C. It is one of these risks of doing business on an active exchange and the customer realized the loss

D. The clearinghouse is responsible for the loss

E. The loss is charged against the floor broker

7. An MIT order to sell becomes a market order when the contract trades at or below the specified price.  False.

A. 8. An order to purchase of sell soybean options would specify:  Answer = C

B. The number of bushels

C. The number of tons

D. The number of contracts

E. None of the above

A. 9. Which of the following is NOT a valid order:   Answer = D

B. Buy 3 April CBOT Soybeans at the market

C. Sell 8 June Value Lines at 257 33 stop

D. Both are correct

E. Both are incorrect

A. 10. An MIT order, entered before the market opens, to sell three July Comex Silver at 5.50 MIT GTC.   Answer = E

B. Would not be cancelled at the end of the day it is entered if not executed

C. Would be executed if the market opens at 5.60

D. Would be executed if the market opens at 5.50

E. Could be filled at a price of 5.49

F. All of the above are correct

A. 11. Which is the correct order?   Answer = E

B. Buy three (3) April NYSE at market

C. Sell fifteen (15) June S&P at 115.33

D. Buy three (3) Dec. Value Line at 92.00 all-or-none

E. All are correct

F. All are incorrect

12. Options order tickets must indicate whether the trade is new or offsetting.   False.

